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77% 3907 JAR — We promote him.

Overview

Our X713 states that if it is a case of >N >N concerning a possible 7w 13,
the ruling is that we elevate him to 7172 status. Our M2o1N will discuss and
explain the different rulings concerning >2n1 >n.

an 577725 510 78T — For we place the two 2>7v who are 01 against the
two o7y who are 2°won; thus effectively negating both groups of o°7y.

PIAR X923 OPIXY —and the person is placed in his original presumptive
status —

RI7 3772 1°2R7 12 P1mnT — for it is presumed by 72 that his father is a 37
w23 therefore the son is also a w2 ].‘D.l

mooIn has a difficulty with this resolution of »2n1 *7n; that we revert to the M w> npin of
the father.

(%0 77) PPRITP2 MINT P52 J199%KT 7290 — And this is perplexing! For the
XT3 states in 9IRS 29D in PRITP NOON —

Ton ORI 923 — concerning King 581, There was a controversy surrounding the
(7973) 7o of 79nn °RY. There were rumors that his mother was in captivity among non
Jews’; thereby making *X1* a %1 who is A173% 9109. The o°mon ‘suggested’ to *X that he
give up the 1172 on account of these rumors. The a°non there continue to relate that the
matter concerning her captivity -

R321 X?Y wpian - was investigated and the rumor could not be
substantiated. The x7n3 there asks:

T 997 — How is this that the rumor could not be substantiated, and X1 was
vindicated —

SRINWOR 2R N7 829998 — could we say that two 079 claimed that she
was in captivity —

RN R R» "R ™M — and two other o>7v claim that she was not
captured; this cannot be, for —

SITR NO%OT N1 9R% — why do you see to depend on these o7y who claim &%
"RanwR and are vindicating "X

517X 7128 — depend on these o>7v who claim *Xanwx; therefore, continues the s'83
question —

" The above is (somewhat) excerpted from the interpretation of the 2"aw1 here and > in 2,12 77 N121N3.
However they maintain that the M w> npin is (also) based on his status after the first 7°woni 7V testified; not
(only) on the 2R np as NoOIN states. See “Thinking it over’ # 1.

* A Jewish woman who had relationships with a non Jew is considered a 7. She is forbidden to marry a
1712, Any child she has from a 3713 is considered a 971, who is 71117737 7109. A woman who was held captive
among non Jews is considered 112771 as a 717, regardless whether it is known for sure if they had any
relationship with her. See footnote # 9.
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R321 XY o8»N1 - and why did the o°nmon say that nothing could be

substantiated! Since it is > *7n, it should be considered a P50 and X1’ should be 109
71752, Why did the o°non insinuate that nothing was found that could invalidate "X from
the 71112?! He should be 9105 on account of the »n »n. This concludes the citation from
the X2 in PP,

mooIn concludes his question:

XN — but now according to the interpretation presented in the beginning of nvoIN
that by >3 °7n we maintain the original Mw> NP1, then —

7992 Rp °R» — what is the challenge in 1u17p noon as to the status of °X¥, that he
should be 9109 by > 7n -

7712978 — on the contrary! It makes sense why x> was vindicated, for —

2% % 72 n°R — we should maintain there just as we say here, that —

5N 37772 990 SRR — we place two 0°7Y against two 277V -

PINR X923 9PIRY — and we place the person on his original P7; which
means —

AR NPIAR ORI OPIRY — and we should place °82% based on the 7?17 of his
mother -

"Ranw R K97 — that she was not in captivity’.

mooIN question is; just as here the 07y concerning w173 32 cancel out (it is M *7n) and
the son is a w2 172 based on the M w> npn of his father; similarly by X1 the o°7v of
"Ranw°R cancel out (*7M "1n). There remains the M Ww> NP1 of the mother. *X1 should be
w2 on account of the Mw> npin of his mother. In both cases neither son (°X1> nor the
s'1712 son) has a M w> npin of their own; only from their parents. The ruling should be the
same in both cases. If the M w> npin of the parents applies to the son, then "X is w2, If
the mw> np1n of the parent cannot apply to the son then the s'172 son should also be 7109.

moon will now cite how *"w1 explains the X n3a there in W1TR:

oUNPa ant wass — and >'"'w1 explained there in punTp noon the reason we do
not follow the aX7 NPIM concerning XY, is -

MR DR PRI RN KD AN npinT — that the 7P of s"X1° mother cannot
be applied to validate 582 for nnm>.

PR2 297y PRY 5% — because the witnesses who claimed °Xanw°R are not
coming —

733775 287 NR 9I188% — to invalidate the mother for ;733772 status —

RI By 792 X9X — but rather they came to testify against 582> that he is the
son of a 12w. The status of the mother is irrelevant here. The mother is not present. The
D°7Y are stating that °XY is a 132w 12; and *X has no mwa nprm.*

? s> mother was certainly not in captivity prior to the date which the rumor alleges she was captured.
Therefore since there is a >0 *n whether or not she was in captivity we place her on her original 7p1 that
she was never in captivity.

"1 does not attempt to distinguish between our X723 (where we do follow the original 7pi) and the X723
in 7W17P (where we do not follow the aXn npi). There is a distinction however, for >"w" maintains that the
reason the son of the 7772 is assumed to be a 172 (is not merely because of the N1w> npin of the father, but
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mooIN rejects this interpretation of >"wA:

PrRs 11°920% 8=1 1RY — and the v''1 is not satisfied with this interpretation —

2% aR7 NPt 29w KXY 97 — for why should not the axn npsn apply to the
son as well —

NH 9197 99K1 IRT — since it is impossible —

w2 ana Xnw — that the mother should be a 7 w> -

2w> 327 17970 K9 a8 — unless the son is also 2w, If the son is not 7w3 since he is a
72w 73, then the mother is automatically a 712w. Mdo0IN argues that we cannot separate
the axi NMw> from the (°X3°) 127 MWD, since they are dependent on each other. Therefore
it does not matter what the intent of the 0>7v are; whether to testify concerning X1 or his
mother, in all cases the status of the oX and the 32 are to be the same. The mother has a
nw> npi; therefore we cannot be 9019 the son, whose status is linked with his mother.

mooIn does not agree with the reasoning of °"w7 and will now show that it also
contradicts a X23:

X277 7 — and furthermore there is a difficulty with >"w", for here in our
X3 -

Y2o10% 297°UR 3277 YT 23 Y X — even though the 0’7 are testifying to op
the son and not the father (similar to the case of *X1> and his mother), nevertheless -

W AR NPt v 8O3 — the mptn of the father helps to be = wan the
son. Why therefore should it be any different by *x»* and his mother?!’

mooIn offers his explanation:

NPV NPT PR W29 a8 — and it seems to the "9 that this is the
reason why there is a difference between our X713 and the case of "XI> —

(70 DomomT M7 2w RX% a7 amas) PR 'T PR JvPonT awn — because the XA
concludes in 118 '7 PO -

73277 RPO50 K7 99 0 927 — that every case of ™0 10 is a 33277» PBD.6
According to 70 law if it is a ™M "0 we follow the original 7117; however the 0mon
decreed that even if there is a 2n°77 NP by a >M "0, and 77073 7 it should be N,
nevertheless we treat it as a P90 and we take the more stringent view (if it is an MOX
RNMTIRT).

ant T2 oa9 — and therefore the X there in 1u17P challenges the
assumption that the rumor could not be substantiated; saying —

1R 7120 — depend on these o°7y who testify that *Xanwx —

99K RNMIRTRT 5717 — for granted that according to 70 law we rule
that —

rather) because there is (also) a mw> npin for the son, based on the testimony of the first 1°wani1 7. See
previous footnote # 1.

> See previous footnote # 4.

® msoin (seemingly) does not mean that *n1 >0 is a 71277 XpP°90 in the usual sense (where we say 71377 K50
X2177), but rather that the P20 is 132772. Therefore if the issue at hand is in a Xn>7IX7 it will be X112 and
by a 11277 it will be X717 as nvoIn shortly states. See “Thinking it over’ # 2.
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a0 >7772% "0 P8 — we place the two against the other two (as if they do not
exist7) -

RINN RNNOR OPIRY — and we place the woman (s"X1> mother) on her npn
M wd; which would make 7337759 W3 "X —

TeoIDh o J1anTR 2R Bon — nevertheless she is considered j12a7R WD,
Therefore the X3 says we should be *3& 710; that she is 7109 as if we pay attention to
the 0°7¥ that claim >Xanw°x.

The question remains, however, why in our case do we bestow the 2877 NP1 to the son,
even though here it is also > *n; he should be 122771 711752 2105! MOOIN explains:

Yoo 132797 72190 IR X2 — and here in our X713 they were lenient since
the discussion here is merely concerning a rabbinic 72190, not a 12N
Xn»7K7, therefore they were lenient

AN 99n2 712 179079 — to permit him to eat this 131277 72170 in a case of
Y —

PINN ’7%,71&’71 — and to establish the son as a 2w> 3772 based on the 7P of
the father”.

In summation: According to mdoIN in a case of M >IN, then XnN»7X7A the ruling would
be that PR "»PIXR. If there is a °n°71 nP1n then it would be 7N (however if there is a npIn
70°K then it is a MO°R X7, not a MO°X Po0). The 1127, however, decreed that by >2n N
even when there is a 707 NP, nevertheless we prohibit it poon. This ruling applies only
if the M0°X in question is an XN*>7IRT NO°X (as in the case of XY, where a 9911 is 711797 7109
and is forbidden *xn»1xT for all Anmd functions), however when the Mo°X in question is
merely an 731277 M0°X (as in our X713, where we are discussing if the son may eat 77N
717 112 which is only a 712772 72170), then we revert back to the 7710 ruling, namely that
by " *n we follow the original mw> npin. This follows the general rule that X950
XY RN»TIRT and R2IP7 13277 RPDO.

Mmoo anticipates a difficulty with the idea that >0 >3n is merely a 71277 po0 however n
1707 we follow the 1p1n:

5owh 9%R7 871 — and concerning that which the X123 previously stated in the
case where —

915 N K 2N '3 NB MR 2R — two 27V said that he died and two
0>7v said that he did not die, etc., the ruling there is that —

7 If we were to maintain that by n"1n it is considered as if both 0*7y are testifying; it would be quite difficult
to understand how the 1P can outweigh the status of the 07y (that contradict the 7p117). However if we
maintain that n"1n is viewed as if the contradictory 2>7¥ are not present, then it is understandable that the
711 can decide the case (for no o>7v contradict it).

¥ See “Thinking it over’ # 3.

% In the case of "X it may also be considered only an 71277 M0, since the 7™2W MOX is an 112771 NOX (see
footnote # 2). Nevertheless on the possibility that she was 119923, then (s)he is X087 7117797 MoR. In our
case of 11277 77N, it is always only a 7127 question, never a XN*"7IRT issue.
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297V N2 T2 NN X1 9ak — however if she remarried and then the 297y
came and claimed that he did not die, then everyone agrees that -

Xxn XY — she need not leave her new husband'® —

X7 3397 RP°DO S0 99n7 23 B nX — even though that >am »9n is merely a
J1297R PV, as previously explained —

TPIAN SIAPINY 19 DR XNMIRTY — and according to 770 law, however, it is
required that we should establish her status based on her original 7pm;
which is —

WOR MR X977 — that she was a married woman —

nRxH 79 7197 — and she should be required to leave the new husband —

NN 92 Yy 08 — even though she remarried —

YR TRRY - to one of her witnesses who is certain (as she is) that her husband
died.

If we were to maintain that >0 >0 is a 7707 7 290 and we do not accept any 7P to
resolve this p90; but rather the poo status remains by 59my 9, then we can understand
that X3, There are "M *7n; it is a WX NWX poo, so 72 will not permit them to marry
poon. If however they are already married and the new husband and wife both claim that
they are sure the husband is dead, then since they were only 710K to marry p20on, therefore
this 90 that 7"2 has is not sufficient to revoke their marriage, since they are X7 that he
is dead.

However since we are maintaining that Xn»2X7» by >0 °n we follow the original 7pim,
therefore this woman is X nWX npina from her first husband and is 7707 32 MOKR to
remarry. How can we allow them to remain married just because they claim *X712 that the
husband is dead?! How can their *X7) remove the 7710 70X that was created through the
oK npm?! '

ND0IN answers:

an 11527 2R — the n''9 says that here it is different —

N0 XP977 Pt RONRT — for the P that a woman is meticulous in first
assuring that here husband is dead and only then does she remarry; this
7PN comes —

WOR DR NPt 7vanY — and undermines the @R NWR NP, The WX NWR NpIA is
not powerful enough to create a Mo°X npin. There is an opposing 7P, The fact that the
woman is remarrying and claiming that she is sure her husband is dead weakens the npm
YR nWX. A woman will not remarry if she is unsure of her (original) husband’s status.
She does not want to transgress the ¥°X nwX 7o°X; she does not want her children to be

' See “Thinking it over’ # 4.

' This view may be seen as being supported by the X123 in PwTp concerning *X2. The X»3 there says 120
17X (on those that are 70IR), even if there is a N7 DRI,

"2 1t is understood that even though the 227 said that *3m >0 remains a 20 and we do not rely on the 7p1;
however that is only if there is a °n°7 np1n. Then the 051 decree that even though Xn*7X77 it is N on
account of the 70> NP1, nevertheless 1312777 it is MoX. However if RN»7IX77 it is 7OXR because of the npin
7O°K, then the 1127 will certainly not say that it is only a 790 (and should be nn!77)!
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Q1N etc.; in short a woman will only remarry after a meticulous search that assures her
that her husband died. This 1117 counteracts the w8 nwX npii. Therefore if she remarried
it is only a MO°X 50 to 7"2, therefore R¥N K.

mooIn challenges this previous assumption that there is a X201 Xp>77 NPIM:

2°7Y '3 N2°KR 95 mKRD aRY — and you may say; if there are two 2°7¥ who
testify that her husband died, then she —

NP7 RY — is not meticulous in verifying that here husband died. The reason she is
not (so) meticulous is —

175102 211 82797 — for subsequently there is no stringency —

(2w 3,70 77 aw) 7729 TWNRIT2 MARTD — as the X1l states in 7739 IWRT PO -

mMwaa X5 nXwi — if she remarried without requiring permission from 72
(in a case where o°7¥ testified that her husband died), and then her original husband
returned —

Y2 2312 N2 — she is permitted to return to her original husband.

an? wapnY — and the X713 explains there that the meaning of the term X?w nxwY'
'"mwaais —

2°7v2 nRwnw 117 — that she remarried based on the testimony of 27w
who claim that her husband died. If only one 7¥ claimed that her husband died then she
requires a (special) 72 MW to remarry (since 77IN7 12 two 07V are required to testify).
7" grants her this MW" with a provision that if her husband returns then she will not be
able to be married to either of her husbands and will lose her monetary rights, etc. This
ensures us that she will be meticulous before she remarries. However if two 07 testify
that her husband died, then she is permitted to remarry without any specific 7"2 mwA. If
her husband returns we are not that strict with her; including that she may return to her
previous husband, and retains her monetary rights.

mMdoIN question is that since there are two 07y who testify to her husband’s death',
therefore there will be no 79102 1. If there is no 79102 M, then there is no  Xp»7
R201°m), since the woman is not that concerned. If there is no X201°m1 Xp»7, there remains
only the w°X nwX npim. If there is a WX NWX NP, how can she remain married in face of
this ¥°X DWR NP1, since XN»7R72 we follow the 72177 in a case of M »n?!

MooIN answers:
2272 @ — and one can say —

7T DR 77T 2vwmem »RIT — that since the two groups of 0°7v contradict
each other, therefore —

X217 XO°R — there is the same stringency here as if she would have remarried
7" mwna -

w3 nnn 7Yn ax — if she will remain'® with her new husband —

" The question (seemingly) becomes stronger since N19010 is discussing the case of 2*7¥ 12 2"AXY NXW3, at
the time of her remarriage there were only the o>°nni 0°7v. She is certainly not X201°11 Xp>>7. See footnote #
10.

' See previous footnote # 13.
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79w 2 nivwa — based on her claim of certainty, that she knows for sure that
her husband died. 7"2 is lenient with her only if she remarries on the basis of the
testimony of two uncontested 2>7y. If however, the 0°7¥ are eventually contested, and she
remains married on the basis of her assuredness, then she must face the consequences, if
it turns out that she is wrong and her ‘old’ husband is still alive. Therefore by 201 *7n she
will be X201 Xp>*7, since there is a 702 X727, This X201M1 XpP»7 cancels out the npIn
YR nwX. The woman’s status is only a MoK P90 at most. If she claims °2 »32, then 7"™2
cannot separate her from her new husband.

mMooIn has an additional question:

9280 2R — and if you will say; in the case where —

TWAANI RY 20N 21 whsn 20w "2 - two 207V claim that she was
divorced, and two other 2°7v claim that she was not divorced —

RN XY 'R»X — why is she not required to leave her new husband, in a situation —
297V IN2 72 R nRwI2 — where she first remarried based on the testimony
of the first group of 2>7v, and afterwards a second group of 237¥ came who
claimed that w301 X7. Why does the &n*>92 state that she need not leave!? For -

NP7 X% 877 — she is not meticulous in the verification process, in a contested
divorce case —

NP77 X7 nn2 RP177 — it is specifically only by a claim of death that she is
meticulous in verifying his death; the reason is —

N2> RRw IRW — for she is afraid that perhaps her previous husband may
return —

n» KOw 9277 w7 — and everyone will know that he did not die. Therefore by
nnn she is very meticulous. However by w177, she is not that concerned if her husband
returns, for even if he claims that he did not divorce her, people will not be sure that it is
true. Especially since the woman claims (and two 2>7v support her contention) that he did
divorce her. Therefore since she is not that concerned there is no X&201'»1 Xp>7. This

leaves us only with the & nw& npin. Why therefore do we permit her to remain with the
new husband?!

mooIN anticipates a possible answer, and rejects it:

TRAANI TMY® naR: 7RY — and she is not believed to claim that she was
divorced. There is a rule that if a woman declares in the presence of her husband, that
she is divorced; the woman is believed. There is a 13?117 that a wife will not be brazen to
her husband’s face. If she claims she is divorced, we assume that she is. M990 is noting
that in this case we cannot say that here too the woman herself is believed that she is
divorced, and that her statement counteracts the w°X nwX NP (just as in a regular case
where a wife says to her husband *i1nwA3) —

TTOURY YR Teva v1s2 XYW — for not in the presence of her husband, a

woman is indeed very brazen. There is no reason to believe her.
mMooIn adds an additional point:

257V R2ORT X297 7 — and furthermore, in a case where there are 2°7y —
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79 "p»on XpT — who are assisting her and supporting her claim that she is a
divorcee —

awmy ayn — certainly she is brazen. She is only believed when she says I am
divorced, in the presence of her husband; for a woman does not have the 1y to claim in
the presence of her husband that she is divorced, unless it is true. However not in the
presence of her husband and especially if other 2>7¥ support her, a woman has the 71¥77 to
claim that she is divorced even if it is not true. Therefore we cannot believe her statement
that she is divorced. There is also no ¥201°n1 Xp™7 in the case of Pw17°3. Seemingly there
only remains the v°X nwX npin. The woman should not be permitted to remain with her
husband.

MDoIN answers:
=272 " — and one can say —

NP7 9577 1197 — that concerning this issue; whether she can remain with
her new husband, she is meticulous —

2R R NP vanY — and she weakens the @R DR NP1, the reason for this
1S —

787" 29097 — for she is always concerned that—

MIPTa2 27905 N W X»w — perhaps her supporting 0>7v will be amn» or
invalidated by being accused that they are 2°1%13. She will have nothing to fall

back on, since there are 2°7v who claim that she was never divorced. Therefore she is
N201°M RpP> 7.

mooIn has one final question:

980 aRY — and if you will say —

¥79 897 98»% — When the X3 did not yet know —

755K %% 12 "amxa7 — that we are discussing a situation where she claims

‘T am sure that he died’16; before we came to that conclusion and we thought that the
woman has no opinion as to the status of her husband —

TRpP 982 — what does the X712 state as a challenge, that how can she remarry -
Rnp Mon awNa X913 K7 — ‘she herself needs to bring an "on awN’; why
does the X713 say that; since she does not know the status of her husband, the X713 —
27 %% 17 — should have stated -

N»»p nRun2 — she has to bring a nRWR j29P. According to Moo our X°A10
maintains that 301 °n is a 112777 XpP°90. However Xn»XT» we follow the 7pii. In this
case of > "N, the woman is W8 WX np1ia. Therefore if she does not claim % °72, then
she is W X NWX np1na and is required to bring a NXYT 129P; not an M>n oWR!

mBDIN answers:
7157 921% @ — and one can say that the challenge of the x»3, is -

' Seemingly it should read 'nmx2'.
16 See ox1 71"7 2,9 A7 MOOIN.
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5907 5INT AR 193K — even if we were to assume that a0 >0 -

NNYIIRT XPODD 7717 — IS a POO 717N, If we assume that >3m0 is a XN»IIRT XpP 90,
then we do not follow any mp1, but rather it is left as a po0. If it is a XN7XRT XP00, then
it is understood why the X723 cannot claim that she should bring a nXvr 1279p. A nXvA 127
is brought only if one certainly transgressed an Xn» X7 MO°X, but not if one is doubtful
whether he transgressed an Xn*7X7 70°X as in our case where it is merely a Xp°90
NNPTINT.

(% Yomnnn M7 ], 77 A7) PR T P93 NwD72 — As I explained in PR '7 pop —
2% 921 — nevertheless'” even if it is only a RN*MIRT Xp*D0 —

Xn»p awRa — she is required to bring a ">n awWR 3J27p for (perhaps)
transgressing a MoK PoO.

mMo0In concludes:

7872 1°R) — and there is no need to elaborate any longer —

SIS (3x »nman M2 2,0 77) N12N3Y — and I explained it at greater length in
NI23N2 NoDn.

Summary
In a case of n"n, the ruling 7707 72 is, that we follow the 7P, whether

there is a °n°7 NP1 or a MoK Npin. The 0°0m however instituted that even if
there is a n°7 npin, it should still be treated as a Po0. If the issue is a
RNRT, we go Xy if it is a 1927, we go R71p5.

We follow a X% MoX npin only if the npm is not compromised;
otherwise it remains (only) a 0.

The P11 of X201 XpP>7 AWR applies (even) by M "7n; and even by a 1N
of w17 1t 1s sufficient to allow her to remain with her husband.

Thinking it over

1. In our X773 we say that the son has the M w> NP1 from his father the 172.
Seemingly there is no connection; the father may be a 7w> 1772 who married a
Bgw1ma, thereby disqualifying the son from the 7175.

2. It is not clear what moown is adding by citing the X3 in “nma.
Seemingly until now we also assumed that n"In is a 131277 Xp*90; otherwise (if
it were a Xn»7IXT X71°00), we would not follow the 7P, n1v0IN should have
merely stated the difference between our X723 and the case of X1 in 'on
TYITR.

"7 oo may be alluding to the issue whether an *¥>n owX is brought only when XX PInnX.
18 A 1719 who marries a w3 is still a 9w3 3713, even though his children are 0°7%m.
1% See footnote # 6.
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3. mooIn explains that in our X713 the son is permitted to eat (only) 72170
11277. In a case of a 711277 (790) then by M >0 we follow the 07 npim. It
seems from MooIn that if there would not be a 0’7 npin, then he would be
TIOKX in this 73277 72170 for he is a 9717 po0. The general rule is that by a o0
11277 we are lenient (even without a °n°77 npim), Why is it necessary here to
rely on the 10> npm?*°

4. Mmoo has a difficulty with the ruling that if X¥n &% 0°79 X2 2"'nXY nxwa. It
seems that nvoIN is asking the question according to *"an7. however the
question can certainly be asked according to the p"n as well for they
maintain that in all cases xxn 85.*!

20 See footnote # 8.
2l See footnote # 10. See X"wAmn and n5w "9.
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